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Time : 3 Hours ] [ Full Marks : 300

General Studies—I

1. Write short notes on the following :

FeicRen ® wfaw feafnt ffa

(a)

(b)

(c)

(d)

(e)

2. (a)

(b)

3. (a)

Section—I
Tus—I|

Indian Councils Act, 1892 8
TR Uiwg Affem, 1892

Santhal Uprising 8
ERICIEEE
Champaran Satyagraha
TR TR

Art and Architecture of Mauryan Period 7
T whicT <ht el 3R Aegehell

Cave Paintings of Eastern India in Ancient Period 7

T il § gl 9Ra W TR o

“Bihar has been the centre of learning and spiritualism for ancient time.”
Explain in detail. 38

‘U el @ foER Ren ik srearen 1 FE W R s feqga s ren
it |

Or | 39ar

Evaluate the Champaran Indigo Movement and explain its impacts on the
Indian Freedom Struggle. 38
TR i ARG F eI HINT q9 IR Wl 999 W 5696 gt

I qUi HIfT |

Critically examine the contribution of moderate phase of the Indian National
Congress Movement. 38

ST TR I ST % IR O F AR H AR Tl
<hifse |
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(b) Trace the development of modern education in Bihar and its impact. 38
firer § omyfe Ruan % fer oi I6F W B @R |
Section—II
wus—II
4. Answer the following questions :
Feffaa i & 3w €T -

(a) Explain the concern of the Supreme Court of India on combating gender
stereotypes. 8
S Shag qRIE & qEEen 6 F R AR et = e =
3gQ@ It |

(b) Examine the relevance of the Bharatiya Nagarik Suraksha Sanhita, 2023 in
Indian governance systern. 8
T ST STereen 1 el e e dfedr, 2023 Y il 1 feereE
it

(c) Evaluate the role of Artificial Intelligence in decision-making process of the
Legislative institutions. 8
et geenett &t Foig-fmio ufsen & Fhm sitges smar i e =1 qomed
HifsTe |

(d)  Describe the parameters and impacts of the Global Wage Report, 2022-23. 7
dftereh 9 wfae, 2022-23 % AI9GUel Td wwET # e difvm)

(e) What are the basic provisions of the Foreign Trade Policy, 2023 regarding
export promotion initiatives in India? 7
Wﬁaﬁuﬁwqﬁﬁ%mﬁﬁﬁéwwﬂﬁr, 2023 & Hifcts TEE™
T §7

5. (a) Providfe a brief over.view of the Manipur crisis. In your view, what could be the
potgntxal repercussion of this ethno-religious conflict on the landscape of
national politics? Comment. 38
g‘?mﬁﬁmamwﬁmfﬁml HTht g8 & sTred-enfifer end
Tl % oRgwr R @ ywE @ w27 B S
Or | 3rear
(b) :lol:”l ;095 India’§ leadership within the G-20 reflect its commitment to
ogeofarl:jsll ‘;};eEancne.nt philosophy of ‘Vasudhaiva Kuturnbakam’ (the world is
Y)¢ Examine the ways in which India’s approach aligns with this
20/FI/CC/M—2023—02/502
(2) ( Continued )
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philosophy and contributes to global cooperation and development through
its role in the G-20. 38

2 5 TRREE g 3 Fh G-20 § Wi Fgel ST 2 ‘Fgiie pgraRy
(ﬁwqamﬁaﬂ.éawﬁ)wwméwﬁm%? ard & G-20 |
%@%@@ﬁﬂﬁﬁﬁ?ﬁs@aﬂmaﬁq%ma%ﬁéﬁma?ﬁ%,
T TR IS |

6. (a) What could be the potential positive and negative societal consequences of
introducing a Uniform Civil Code in India, considering its rich diversity?
Explain. 38
Waﬁmﬁﬁw@amﬁ@ﬁgqmﬁmmm@%mﬁm
E@%Wﬁamawwﬁ%q&mwém% 2l
it |

Or | AT
(b) How does India’s growing status as an emerging space power align with its

ambitions and achievement in space exploration, particularly in the context of
the mission’s goals and its role in

the Chandrayaan-3 mission by ISRO? Discuss
India’s journey towards becoming a prominent player in the global space arena. 38

wﬁ(ISRO)éamwm—Sﬁm%ﬁﬁﬂmﬁﬁ,mmaﬁrmﬂa%géa«—crﬁa
w%ﬁf@ﬁaaﬁaaﬁwﬁﬁwsaﬁﬁaﬁww@aﬁ%%@ﬁaaﬁﬁ
%?é@%aaﬁammug@m@mﬁaﬁmﬁmﬁwﬁm%ﬁ
a@auﬁmwﬁéﬁﬁﬁm

Section—Ill

,\/@'U'é——lll

7. Study the following table carefully and answer the q
making identical soaps in the form of bars.

uestions given below this table :

There are three companies X,YandZ
Soaps are sold by the number of units.
Total sales = Selling price X Units sold

X Y Z
Vear |Unit Price| Sales Unit Price| Sales |Unit Price| Sales
(F/unit) | (¥ lakhs) | (¥/unit) (¥ lakhs) (&/unit) | (¥ lakhs)
T .
2011 5 3 4 4-4 7 35
2012 6 3 6 4-2 6 36
2013 7 35 5 4-5 8 4
2014 | 8 4 7 | 49 5 5
2015 9 36 6 4-2 6 4-2

Assume : Only these three companies exist in the market.

20/F
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ﬁw%f@awﬁmww@amwﬁﬁq@mwﬁ%ﬁﬁqwﬁ%m

A

o) % w0 § T W R Al A S X, Y o Z

T THEAl S EE % AgER 99 I ¢

ol TRl = fosm e x o=t T g

X y :
R [ e I A s ferghl
(F/eE) | (F @) | (F/em) | (T @) (?/335!%) (¥ @r@)
2011 | 5 3 4 44 7 35
2012 6 3 6 42 6 36
2013 7 35 5 45 8 4
2014 8 4 7 49 5 5
2015 9 36 6 4:2 6 4:2

T ST : SR 8§ Fad I8 dF St ol

(a)

af 2013 & g H hEd qoF = A (F/FHE)?

(b)

What was the average price of soap in the year 2013 (Y/unit)?

What was the percentage decrease in units sold for X in 2012 over 20117

X % fom 2011 i g & 2012 & o=ft 71 st # forem witra o el 87

(c)

2013 # ==t T F THEA ¥ Z 1 fohaw wfowra e on?

(d)

form ad § v 3 sl o orfeam e St

(e)

3t 37

oNELCCM-_2023-02/502

The maximum price per unit given in the table exc
per unit by what percentage?

woft # feon e s g s

In which year Y sold the maximum number of units?

(¥ Scanned with OKEN Scanner

What was the percentage share of Z in the total units sold in 2013?

eeds the minimum price

T i 36 < e @ e whie




Or | 39ar

The following pie-chart shows the expenditure incurred on the manufacturing of a
calculator under various heads. Study the pie-chart carefully and answer the

questions given below :
Software

R&D
Miscellaneous
Machinery
Hardware

ﬁﬁmwa—m%&aﬁ%m%ﬁa%ﬁwﬁrm&nmmﬁm
%lw—mwwﬁqﬁ%mwaﬁﬁqaﬁnﬁﬁquh%wﬂﬁﬁz

Higeaa

What is the central angle of the sector showing the expenditure incurred on
paying for the software?

vﬁzém%wmﬁmwmaﬁmﬁwé&amﬁawm%?

What is the cost price of the calculator on which the cost of R & D and
machinery charges amount to ¥ 127507 6

Fepa &1 @ qed 1 8 e W R & D IR wfv e @
¢ 12750 &7

(c) The marked price of a calculator is 24% more than its cost price. If the marked
price of a calculator be ¥ 186, then what is the cost price of R & D used in a
single unit of calculator? s

SRR 1 R A AH T AT A 24% A 21 AR e
WW?I%%’“}WR@@W&WR&DWWW

R 87

(a)

(b)
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single unit be & 5850 and the marked price is
then what is the marked price of the calculator? 8

aﬁtﬁ%argaam@ﬁm%

(d)  If the machinery charges of a
30% more than the cost price,

Hﬁ@ﬁﬁﬂﬂ?ﬂ‘lﬁ‘gﬁ?%-w
ﬁ%%,ﬁ%@ﬁﬂwﬁmwmm%?

(e) If the profit of the manufacturer is 20% and the marked price of a calculator
be & 192, then how much money has been spent on it as miscellaneous
8

charges?

aﬁmmwzo%%ﬁﬂaﬂﬁﬁmﬁ%ﬁ@?l%%ﬁsam
ﬁﬁagﬁ%wﬁﬁﬁﬁm@éaﬁﬁ%?

hich represent the expenditure of
ntages and answer the questions
4 lakhs and ¥ 5 lakhs

8. Study the pie diagrams given below carefully w
two families 1 and II on different items in perce
asked below. The annual income of families I and 11 are

respectively :
Family I Family I
4 Education Education
QRs= House
12% 8%
38%
Food
Mixed items Food
Mixed items

ﬁaﬁqmﬁﬁﬁmmn@mm@ﬁuﬁaq&aﬁméu%ﬁﬁmqﬁm
ﬁqmwﬁﬁuﬁﬂﬁﬁmﬁhm%wﬂ%qﬁmuﬁ%mﬁﬁmqﬁaﬁl
o 11 i e A H ¢4 @@ @ T5 W@

ahar giEr Il
} - ANt
o
19% 12% 8%
319% | 8%
TP wel IS e
forfsra w=i
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(a) How much less or more amount of money is spent on education by family II

as compared to family I? 7
ThER 1 ofEr | 6 efen R %0 a1 afve o e W = e 87
(b)  Which one of the two families I and Il spends more amount of money on food
and how much? 7
qRErt 1T T Y B SeH W e g7 o a8 I et
7

(c) What is the proportion of money spent by families I and Il on education?

Thait | v 1 g R W = e b A Y

(d What would be the angle at the centre of pie diagram of money spent on
housing by family 1? 7
ofER 1 50 R R @S O H 99 O % s W R e

How much money has been spent by families 1 and II together on mixed

(e)
items? 8
aﬁmﬁaﬁl@ﬂmé&%w%w%mﬁfwnﬁmmm
T g7
Or | 3194t
The bar graph given below represents the additional tax collected by a State
in different years. Study it carefully and answer the questions given below
related to it :
\/ Additional Tax ( ¥ in crore)
685 716
533
382 i 431
271 273
2014-15 2015-16 2016-17 2017-18 2018-19 2019-20 2020-21
Year
20
/Fl/CC/M—2023-02/502 (7)) ( Turn Over)
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(a)

(b)

(c)

(d)

(e)

e grafea A R T I % I AR

srfafr e (T S H)
716

685

533

431

382

271

2020-21

T T T

2017-18 2018-19 2019-20
T

How much percentage decrease in additional tax was registered in 2020-21
as compared to 2018-19?

2018-19 =t o & 2020-21 & 3rfafes o # fora whawra < et ge ¢

2014-15 2015-16 2016-17

How much percentage increase in additional tax was registered in 2017-18 as
compared to 2016-17?

2016-17 #1 gor # 2017-18 # aiffees o & fpe wioera 1 gfg gs?

During which year the maximum percentage increase in additional tax was
registered as compared to its preceding year?

mﬁ%mmﬁﬁﬁﬁwﬁwﬁﬁﬁwﬁaﬁwmq@
T

From 2014-15 to 2020-21, what is the average of additional tax?
2014-15 & 2020-21 T &1 AR oW feq @y 37

During which two consecutive years
was minimum?

ﬁqﬁmaﬁ%%%mﬁﬁ%ﬁmmﬁww

bercentage of decrease in additional tax

* ok %k
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